Oefe n e nteimen Ahcd?gg 17 2

-2'1@_‘3 Luvy -
Lo £L ) = St ] ce [-0,]

8 )b Bl = |2 21k
7

A «\[foﬂ—vv\ ,

e et = lm e A J5e
) (T

\.)frr V2 +b7ﬂ

i {
= i e ynES e

Ll =
O ' | - AY)| <€ als >)\/-~*) V
xS geg € b ( als n2N=go  leef1]]
OVLS LAnfrfwem Jon Ve i
Ao nabief
locn(x)— @(f” = l\_/)( f'/y\ t/—"/
hies | hy = Jx Tyl <kt
]/w\ (1) 20 | en \\,,\(0)= Z‘\ |
b el | A L Pl <k
he () = S 1T |uf® T < Y WJ)

£ 6 als % =0

\\n'(@ £ 4 i X>0

hn ) >0 als (<o

[Randl & L\ (%) |= bﬂ'_’_‘ﬂ ~

\ﬁ:—l JTJW L (W ~J) >0
;: L(\/—dﬂ—h) wanLMW'—“

—
( FROUVn |

“ { F2a H[z > V\lt—I

Doxg L,,\- MmUY igpam Van \‘u(-fj ie 1,__\_1&/\ ‘>»o

——

()= dus b () [= Jk VE g =

| p \ .
als h2V-= g T Dl e ok



(E’_-)_ y\((/(lﬁc\"-"“"( l i Z>X
b wél e £ el-bil]
-S‘u\q(c\vzc(%an(?ﬁ/z')) l \
—_ A e e
I 2t Y
{
\J&izw_s keass - hgo (;X 2 |.p

Y}

)
Z(Z/ L1 217 £

n=g )

pﬁz(&% Conv. olos @ it 22 l"/(]

b a. EGO= anrrac\vv\ (3‘)

aRctan (%(/ = 31 SO If(&@'l o(é

\ &
= icg Z ‘) ( Q(é.'
o L e Wed €0 oale ¢,
- L?: 1) C")JZ i Sﬁl clb
ke 2l 2 bt | \
- 260 < Y o
Lt 2hts”
Dus xq anMﬂ(J XC') () '{t::—a— X
e Q,\\OLLCL A& < {:e>é
Beve. D - 2 bty This
(4 = k-\—.\mp LQLT\U/ e € Ay = ’) 2‘/1fl <3) X
FARET S e 5= o s
= [h>w } w3 3° (“)b\ ,:Tz‘l,'&fs)

R <1 <y §F <l o=y 3exz3 Re3




i D
Hadle 8«@0 e

Ql‘{?LfLMWW& OO‘QQQLLS‘\ZL”_L o aly hw - <o“u‘?‘€M-
<CG‘3> = =3I Z—C—“)— s (cm,ua\?@wf-

Lo 2Hst

S = ZZ%,B"&
gpﬁ(dszm Jnteeval = lunif cbubi- (2-2¢)

L R QCCX:‘/) B 5(’(*3‘/\1&%*0“ ﬁ—;f) 47 3

- )(:37
'l J:(X,L}) cuz §(?7/7) l = \(X'”by)la;zc,@an(x‘-‘z_y [
Z lg (. '3'7)1 < E

Stel 8= e 1(xy) - 3yl = x-3y1
‘TT U

C‘L&S \’p(X/y) - @(37/7} \ < | 75 = ¢
g Con k‘l'»’lb\ Veow X:B'//(,vamé Vtow jpj & 2¢ ;Ln"ej

§.ed%

b |
of e S rh) - F3p.4)
© ¢ G lmy) = ke =
(s _L "(\S[(M'L‘;J'L-
T he (“Q CLMACJ*UV\ ki TF = il
h
ZLK&Q vog y

W £(nh) - Go,0) = Blo,0) - (k)
B i i R B B 6477 71
c hroglk r34°

3 | 2
im Lk"- 3#') ‘ s | T Q’_\L}—L\L—« % 4,3(“ "M\’Z}fﬂt’i

—_—

= M cwzc(”-m@v?h) e Ui t (W h?

a _L_!f"? é a um? -,



§ @ 1L \)aJLL\ k.
b \:szmw %’ZI

("\ +S£/(4“é7) 4—»()( + 37)25 xf'léz7~}
€5 )
}’: g Cl
?XF"FL/FLFQ 2w O 3%

”a (u;v; 8 5 = det 6 2% ¥ |3
4 c o GSx 4b
C e LS X ,*21(;

= | == 68 V\Vseyx %O ,(Mmf‘ "‘,V,S,(A/‘/7 %0
.‘BW\PiI‘C;H\-@F‘Q punc’/l"ﬂegl‘e((‘i;j "Z%é \J—C’\ 5

W = xdyelz +ydadx ¢ & 0(/(6(;/ @l 2) = (1, Vo
S 2= Ale—yv‘ 0.6 21¢ R
jgg <o @ = §§ 'X(C7Cl?~ 4—»7 O(}g[)ﬁJ— %Yd,}(#

= gg (X,L, i .y szsc'
0 (19,2 - W dacdy

%N 1 < %@xx P‘/i (

,,,L / ‘>
qu/z (“((X7’7

V\o«lvwcea(t/fcjfoz Cann I al : 700\‘}'&?0@0’-\»

I
L}
—
—
il
~C
™NE
~
1’4
~
./‘-'
~(
~N
£
(

L2
L[x JZ;éll X = T; (os—fﬂ
S L (e e adeds g asas
o @g=
& = ((z&/l'*’7;L



